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{Year 1Term1 %]

Circles are 2D shapes where
Triangles are 2D shapes the distance from the centre
with 3 straight sides to the edge is aways the same

Rectangles are 2D shapes with 4 straight
sides and 4 right angles

" Squares are special rectangles
with all the sides equal
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LYear 1Term2
Cuboids are 3D shapes with

Bl e luces Pyramids have a base and Spheres are 3D shapes
triangle faces. like balls
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Cubes are special cuboids
ug? with 6 square faces
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Year 1 Term 3

Tree A is tdller than tree B
so tree B is shorter than tree A.

The blue line is 5 blocks long.

The yellow line is longer than the green line
so the green line is shorter than the yellow line.

Tree C is the shortest. The blue line is longest. The blue line is 9 centimetres long.
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If I know
5+4=9
then I also know
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Coco is above Colin
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One hdlf'is one of
two equal parts
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G

of each shape
is yellow.

1

Share equally

A\ A\ into 2 groups
One quarter is one
of four equal parts

> D
> D

% of each shape

Year 1 Term 4

X

One quarter turn right

(5>

Three-quarter turn left
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equal groups
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Double 3 is 6
3+3=6
2 groups of 3=6

The groups
are equal

000|000

Half of 6 is 3
6 shared equally into
2 groups is
3 in each group
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+2 +2 +2 +2

@ @ N N N N
O O O 0 2 4 6 8

Three groups of 0,24,6,8,10,12, 14, 16, 18, 20 ...

t4+4=12 +6 +6 +6 +6

PN N
8 groups of O/—\ 5/—\10 15 20/—

O O O O 0, 5, 10, 15, 20, 25, 30, 35, 40, 45, 50 ...

OO0 O +10 +10 +10 +10

£ N T ST N T SN
0000 0 10 20 30 40

0, 10, 20, 30, 40, 50, 60, 70, 80, 90, 100 ...

o O o O o O

12 divided equadlly into
8 groups is
in each group

12 divided equally

The groups
into groups of

are equal There are four s

is 4. groups in twelve
0 3 6 q 12
&S

Sugar

| Year 1 Term6 ¥

The Colin is heavier than Coco

so Coco is lighter than C%g

1kg

50p coin
Notes

£5O (/ﬁ

'£10

The spoon holds less than the bottle
The bottle holds more than the spoon
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